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program test(input, output);
inta, b, ¢, k;
float t,y,x,s,r;
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main test(input, output);

inta,b,ck; K 07
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lod R1, B
mul R1, C
sto R1, TMP1
lod R1, D
add R1, TMP1
sto R1, TMP2
mov A, TMP2
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/¥ TMP10ll ZtE M & 5tet
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Olet 2l O

S1: X=0;

S2: phi = 3.14;

S3: B=(X*Y +120;

S4: 6=B*B *3.14;

S5. if(B>A)B=B-lelseB=A;
S6: Y=Y /X*2*phi*R;

S7: value=Y *p; *H= pe= Z2]]
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mov A, =2’

- mov B, =%’

g - % lod RI1, A
=9 ' — AH[IU — mul RI, B

printf(A*B); &It sto RI1, TMP

call printf(TMP)

A=2;

printf(A*B): Ol Z 2|~

of B AIHZLHS A8 =21t

16



OlAI 2.

P

4
=

0.

a=3;
b = 4;

c=25;

a=a*b+c

printf(a);
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a=2;
b=7;

3
a=a*(b+c),

printf(a);

C =
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main test(input, output);
inta, b, ¢, k;
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ave = sum / student;
grade = rate * (ave + score)/0.3;
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if (flag_bit == 1)
{
cur_addr = cur_addr + 1;
)
else
{
reset_bit = 0;

}
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score = score * 0.3;
if (score >= 90) grade = 'A’
else
grade = 'C’;
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L1:

L2:

L3:

(comp
(mov
(mp
(mul
(add
(mov

(mul
(mp

= Mot O

SCORE, le, AVE, L2) ---------- (1)
='A', GRADE)

1) R — (2)
T1, B, C)

T2, D, T1)

T2, A)

SCORE, SCORE, =0.3)
L1)
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(comp SCORE, le, AVE, L2)
(mov ='A', GRADE)
(jmp L3)

L2:
(mul SCORE, SCORE, =0.3)
(mp L1)

L3: ....
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lod R1, A
add R1, B

sto R1, C

S B TIHAKAS LSS HIXIAE RIM E0{2H)
S B UHEEA B =S dlAIAE R12] gfdt (3
5t ZE R10I MHE 352
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(add Templ, A, B)
(mul Temp2, Templ, Templ)
(mov Temp2, B)

9 Of2H %a IEOM I 1 Al
ANS 20
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K=A+B*C2 =S8 Z=_]&§ D&

lod R1,B { =2 B2 WE(gt)= dlAIAEH R1€= 0| S}

mul R1, C =2 C2l WE(8H)= dIAIAH R1W ot ) Z2UHE R10l M &}
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stoR1l, K {Cloi&l 210l R19| LHE(8)S =4 KOl H&E}
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